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¥, = input signal voltage to the amplifier

I I, Lo R I = 1:nput sigj_lal current _
R;,, = input resistance of the amplifier
T ) Ay = voltage gamn of the amplifier when no load 1s connected
v, AMPLIFIER V, R, ()4 r2 I, = output current
i l ¥, = output voltage across load R;
’ R, = output resistance of the amplifier
(i) (ii) R; = load resistance

4, = voltage gain when load R; 1s connected
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Current gain, A,
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Power gain, 4,
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Solution. Fig. 10.43 shows the equivalent circuit of the amplifier. Here 4, =1000.

I A Ry,
2 = See Art. 10.20
11 .Rom"'RL [ ]
_ 1000x2000 _ s
1+4
I
= —2-=-%_ _155x10°a

4x10°  4x10°
—3 = .
¥, = LR, = (125%10 9x2000 = 25%x10°V = 2.5 m\

H.W An amplifier has an open circuit voltage gain of 1000, an output resistance of
158) and an input resistance of 7k). It is supplied from a signal source of e.m.f. 10mV and internal
resistance 3k). The amplifier feeds a load of 35 £2. Determine (i) the magnifude of output voltage

and (ii) power gain.
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Solution. 4, = 5 = 80
"
¥V, = V,/80 = 1/80 = 0.0125V = 125 mV
4 = A Ry
_ROHI +RL
4 = Rdﬂﬁt
. ouf L
A _ R
or -ﬂ = =
120 R,
R, = 120x2/80 = 3 kQ

i I
T L= > .
ifl AMPLIFIER I_z % 2 kO
Fig. 10.45

I, = V)R, = 125mV/3kQ = 4.17 uA
A, XA, = 80x120 = 9600

Power gain



